



Subtraktion von Brüchen (gemischter Bruch)

Name: _____

Datum: _____ Ergebnis: _____

$$2\frac{1}{4} - \frac{1}{9} =$$

$$5\frac{4}{7} - \frac{4}{7} =$$

$$4\frac{1}{8} - \frac{1}{7} =$$

$$2\frac{1}{3} - \frac{1}{8} =$$

$$1\frac{1}{4} - \frac{3}{6} =$$

$$6\frac{3}{7} - \frac{3}{4} =$$

$$2\frac{1}{7} - \frac{1}{7} =$$

$$2\frac{1}{3} - \frac{3}{9} =$$

$$4\frac{5}{5} - \frac{5}{7} =$$

$$1\frac{2}{5} - \frac{3}{7} =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\frac{2}{4} - \frac{1}{9} = \frac{7}{18}$$

$$\frac{5}{7} - \frac{4}{7} = \frac{1}{7}$$

$$\frac{4}{8} - \frac{1}{7} = \frac{5}{14}$$

$$2\frac{1}{3} - \frac{1}{8} = \frac{53}{24} = 2\frac{5}{24}$$

$$1\frac{1}{4} - \frac{3}{6} = \frac{3}{4}$$

$$\frac{6}{7} - \frac{3}{4} = \frac{3}{28}$$

$$\frac{2}{7} - \frac{1}{7} = \frac{1}{7}$$

$$2\frac{1}{3} - \frac{3}{9} = 2$$

$$\frac{4}{5} - \frac{5}{7} = \frac{3}{35}$$

$$1\frac{2}{5} - \frac{3}{7} = \frac{34}{35}$$